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% . Please answer the following 3 questions in English: (36%)

1. what is a manager? (10%)
2. what is 2 leader? (10%)
3. what are the differences between a manager and a leader? (10%)
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I. Grammar (5%, 585 25%)

1. "Was the flight cancelled?"
"No, it deparied despite ..
a. delaying
b. the delay
¢. be delayed
d. of the delay

3 "Why is Rick studymg""
.- . his exams."
a, So as to pass
b. Soto pass
¢. That to pass
d. So he to pass

5. "Do you want anythmg from the post office?" 6.

"Can you get me two . ... please?”
a, airmails stamps

b. airmail stamps

¢. airmails stamp

d. airmail stamp

7. "Have you ever been to Seattle”“
"Yes, and my husband.'
a. too has
b. sohas
¢c. sodid
d. has too

9, "Do you exercise regula:ly‘“
"Yes, I'm used to .. .
a. exercising
b. being exercising
c. exercises
d. be exercised

2. "Did you manage to find tickets?"

"Yes, for of us."
a. the whole
b. everyone
¢. the all of

&. every last one

..........

. "Did Tim enjoy his skiing trip?"

"No! No sooner he broke his leg."
a. that he arrived

b. had he amrived than

¢. he arrived that

d. did he arrived when

"Why didn't you come to the picnic?”
i 17T tired yesterday that I stayed in bed all day."
a. too
b. very
¢, S0
d. such
. "The dog is barking again."
*That's ANNOYINE evevenere v

a. Does it that always

b. Does it ever do that

c. Does it always do that
d. Does that always

10. "1 have a job interview today."

"

"Be sureto ....eoeer -
a. smartly dress

b, smart dress

¢. smartly dressed
d. dress smartly

II. Vocabulary (2§ % , % % 24%)

11, A .......mosquito kept me awake all night.
a. beneficial

b. teasing

¢. bothersome

d. harassing

13. The mother
comfort her.
a. curdled
b. coiled
c. compressed
d. cuddled

her little daughter to

15. The villagers to the hills following the
threat of an invasion by the neighboring
country.

a. floated

b. strolied

¢, fled

d. skipped

12. Thisisthe that separates the two counties.
a. boundary

b, horizon

¢. brink

d. extremity

14 . The teacher's report said that James was an
intelligent pupil who information quickly.
. assailed

assimilated

. asserted

, assisted

o o

16. Hereads very ........ ; his tone
of voice never changes.

a. briskly

b. monotonously

¢. mournfully

d. detrimentally
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17. Tboughtalarge ........ of bananas 18. Every night at nine the ........ would

at the shop. serve dinner.

a. bunch a, conman

b. brood b. umpire

¢. clutch c¢. butler

d. bundle d. comrade

19. Lessons were ........ because of 20. The monks ........ for three

the elections. hours each morning.

a. called off a. enchanted

b. taken off b. chanted

¢. gotten off c. charted

d. come off d. cheered
. Cloze (25%, $ 4% 2.5%)

A surprising number of people successfully change their identity. In America .....(1)....., of the
two million people who "vanish" each year, a quarter .....(2)..... a million are never found.
The size of the continent makes the USA an extremely casy place to disappear in. Reasons for
disappearing are ........ (3) .....: insurance fraud, jumping bail, or maybe just wanting to start a new life.
Ralph Thomas, a Texan ... ... {4).....eye, specializes in tracking .....(5)..... missing persons. He says

that personal interests are often what ........... .(6)..... them away. He once traced a missing Californian

dentist because he knew that the man loved acting. The fugitive had .....{7)..... his tracks beantifully,
but Thomas knew it was just a matter of time until the dentist .....(8)..... his hobby. He found him

three years after his disappearance in a New Mexico theatre.

"A rupaway must ......... {9)..... all connections with his past life," explained Thomas. "He must
make the ... (10).....sacrifice, and most people can't do that.” '

21. a only b. just c. alone
.22, a. from b, of
23. a. assorted b. divided
24. a b. 'personal
25. a
26.
27.
28,
29,
30. a

d. merely
c.in d to

c. diverse
private ¢. confidential
after b.down c. along d. up
give b. take ¢ make d do

erased b. hidden <¢. covered d. obscured

pow

returned b, resumed

P

c. sever d. saw

d . intimate

bl

chop b. snip

ultimate b. final ¢. ulterior

d. associated

c. retook d. restarted

d. covert




#8 " s (A% Wt )

B b KB — B A B A A

IV. Reading Comprehension (259, 4.3 2.5%)

Land animals, whether they feed by day or by night, commonly have activity rhythms that are closely in step with
the 24-hour cycle of dawn to dawn, or sunset to sunset, There are other animals whose feeding times are necessarily
Timited by the state of the tide, which itself undergoes two complete cycles per day. Many shore-dwelling mollusks,

for example, can feed only when they are covered by water. It is a great advantage for such animals to be able to

anticipate the arrival of the water so that they can rmake the fullest use of the limited feeding time available to them,
and so it is not surprising that many of them have a twicedaily rhythm, just as the tide does.

There are also certain animals that can tay eggs only when the state of the tide, or the moon, or both, is right. A
notable example is the palolo worm, which lives in coral reefs in the Pacific Ocean. At breeding time palolo worms
grow an extension to their bodies which becomes filled with either eggs or sperm. At certain phases of the moon, this
extension detaches itself and swims to the surface of the water. The eggs and sperm are spread into the sea and the
covering dies. Millions of these worms may spawn at the same time, and a considerable area-of water is made white
with the eggs and sperm. The inhabitants of nearby islands make a holiday of these occasions and scoop up masses of
the delicacy to feast on.

31. According to the passage, some shore-dwelling animals . . .
- a, must feed on dry land.
b. have thythms which match the tides.
¢. can only feed irregularly.
d. move to the water to feed.

32. Why do some islanders celebrate when the palolo worms spawn?
a. Tt indicates a good phase of the moon.
b. The eggs are their main source of food.
c. They like to eat the worms.
d. They like to cat the eggs.

33. What advantage do certain shore-dwelling animals have?
a. They can feed more than twice daily.
b. They have a limited feeding time.
¢. They know beforchand when they can feed.
d. They depend on the tides for food.

34, What causes the egg and sperm extension of palolo worms to detach itself?
a. The worms' position in relation to the moon. ‘
b. The worms' position in relation to the surface of the water.
¢. The exact phase of the moon.
d. The total area of the water.

35. The main purpose of the passage isto. ..
a. describe how the moon affects people.
b. describe the cormection between animal behavior and the moon.
c. explain how the moon affects the tides.
d. describe the rhythms of nature.

Lotteries were reputedly invented by the Romans, but their popularity did not become widespread until the
medieval period, when the custom spread from Italy over much of Europe. In England, the first lottery wasn't held '
until 1568; in France the first was held in the 17th century. Private lotteries and state lotteries organized for fiscal
purposes flourished after this in many counities; private lotteries were, however, difficult to smpervise and often
tended to degenerate into dishonest speculation and simple swindle.

In Britain, lotteries were discontinued in 1823 after a wave of evangelistic attacks by William Wilberforce and
others, and continued to be prohibited until the 1934 Betting and Lotteries Act allowed small lotteries incidental to

fetes, and private ones for members of socictics. In Ircland, where charitable lotteries were made legal in 1930, the
Irish Hospital lotteries became world famous.

2 a%3

R
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National lotteries have been incredibly successful in the
government funds and charities as well as for the paying out o

run both nationally and on a State level, millions of dollars

36. Lotteries in England began . . .
a. later than in most other parts of Europe.
b. in the fifteenth century.
c. at the same time as in other parts of Europe.
d. when they became less popular in Italy.

37, What characterized the first private lotteries?
a. They were effectively supervised by the government.
b. They provoked cheating and were hard to control.
¢. They were widespread and easy to win. -
d. They discouraged cheating but encouraged gambling.

38. Lotteries were discontinued in Britain . . .

a. to allow for the writing of the Betting and Lotteries Act.

b. after a series of fights bred discontentment.
¢. because influential Christians disapproved.
d. to enable Ireland to start charitable lotteries.

39. According to the author, lotteries . . .
4. are a lasting phenomenon.
b. are a passing fad.
¢. have become less popular.
d. are only popular in Europe.

40, According to the text, although lotteties are popular. ..

a, organizations rather than individuals benefit from them.

b. they can be difficult to understand.
¢. the monitoring of the proceedings is often suspect,
d. there is a danger of winners being negatively affected.

countries which run them, the revenue being used for
f enormous cash prizes. In the USA, where lotteries are
are up for grabs. Apart from the unreal expectations of

people who buy tickets, there is some concern about the psychological effects of going from rags to riches in a single

day. But despite the possible side-effects of instant wealth, it seems that the lottery is here to stay.
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